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ST-OFd A=
c= | Ty | =2z o 12 c9) H9Id SAlS _ A=
MR |5HE S| 20| 2tA M= 0] = Ful 44| S (kg/Et91E)
STG- 1 ETTE N IE 6 6 47 | m? 9,854 10,579 3517| 23,950 2.24
STG- 2 siuter |13 6 6 47 | m? 10,977 18,725 5847| 35,549 2.24
STG=3 | i ge R TS 24 6 4 | m 12,340 23,202 7.176] 42,718 2.82
STG- 4 —== 42 30 10 m 4,224 17,599 5220| 27,043 0.85
STG- 5 sEY | 66 54 10 m 5,366 20,489 6,070 31,925 .41
STG- 6 108 | 100 | 10 m 7,346 21,655 6,493| 35,494 2.44
STG- 7 =9 | 13 6 6 47 | m 18,261 11,156 4,096| 33513 2.24
STG- 8 R E 6 6 47 | m 18,995 16,416 5614] 41,025 2.24
STG-9 | e |~ | 36 | 24 6 | 114 | m’ 21,478] 23,420 7,708] 52,606 | 2.82
STG-10 | = ' 42 30 6 m 5,277 20,891 6,188] 32,356 0.51
STG-11 sHc | 66 54 10 m 7,654 24373 7.273| 39,300 0.85
STG-12 108 | 100 6 m 11,088 27,732 8,423 47,243 1.47
SSCO=Y HAXE
o= | ma == _t 2 cig| Sod SAlE - Hol=
= % 2)0| x 2+ T ! 4| el (ke/THeleh)
R EFTET 9 X 4 X 51 e 5,128 7,798 2,460 15,386 141
A 25w orer 9 X 4 % 51 m 6,132 14,953 4,542 25,627 1.41
A3 | e S 30 X 5 X 120 | m 7,522 17,682 5,384 30,588 2.35
A 451 | ama 36 x 10 m 2,701 12,177 3,579 18,457 0.85
A 551 —:'j; 60 x 10 m 3,524 13,393 3,971 20,888 1.41
M 65 % HX00) 108 % 10 m 5.266 16.225 4850] 26,341 254
A T8 ESTET 9 X 4 X 51 e 9,590 10,810 3,537 23,937 141
Al 85 EETEr 9 X 4 X 51 e 10,444 16,902 5,310 32,656 141
M 95% | 2321 [ oq4q 36 X 5 m 3,442 14,953 4,408 22,803 0.42
M10% % o ;O 60 X 5 m 4,614 16,902 5018 26,534 0.71
M5 HX00) 108 % 5 m 6,822 19,498 5853 82,173 | 1.7
RS-Line(=B QHEAM) ZAHE
o= s _ 7 A cio EEEENTE i 51012
=} 20| x 20| WIEES =] 2d| SHAl (kg/TH =)
H1s ¥ S 150 x 150 ¥ 9 | m 8,729 10,600 3,309 22,638 1.90
M2 % EERE 150 x 150 X 9 | m 13,111 15,716 4,899 33,726 1.90
1 2 3AQ J|I22E2 1,000M= K| SHCt
B U520 2520: 20 X 12 (% X 20])
SSEL(OFYURM]) EAE
o I 4 e SAIE o2
2= ] — ko .
= A = x 20| =51 WL T2y | S| (kg/ Tt 2
M1s % = 200 X 5 m 8,303 6,444 2,246 16,993 2.35
M2 % EERE 200 X 5 m 11,812 12,900 4,262 28,974 2.35
12 2AUILE HQIEAMT MOl AT} HEA (I HOIE SRl wet We )
CHQHETEA FHE
o= = 5 _ T A chel TS SAHIE _ zn||j|og
= % 20| x 2/ 0] T [N 2y shll (ke/TH9l2h)
M1s % oprze 400 x 180 x 13 | m 4,481 4,464 905 9,850 4.90
M2s % Doee 400 x 180 x 13 | m 6,308 8,931 1,704 17,443 4.90
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